VAUGHN

CONS TRUGT I ON

2001 S.E. Inner Loop
Georgetown, TX 78626
Phone: (512) 230-6282
Fax:(512) 681-9752

January 07, 2013
Gary Wilson
Williamson County, Texas

710 Main Street #101
Georgetown, TX 78626

Re: Williamson County Emergency Services Operations Center CM
Job No: 172201

Subj: Change Proposal No.  172201-0028

Gentlemen:
We respectfully submit our proposal for an increase to our contract in the amount of $0 (zero) dollars to provide Added

telecom per the Counties request. (Ladder Rack in RM 77, RFI 122, & Cabling for Make Busy Switches) for the above
referenced project.

Our price is valid for Ten (10) days

Please indicate your acceptance of this change proposal by signing and returning one copy of the attached Form B
breakdown of our cost.

Very truly yours,
VAUGHN CONSTRUCTION

Doug Bor

Attachments:  Form B and Backup

CC: File



7

FORM B

PROJECT: Williamson County Emergency Setvices Operations Center CM

CHANGE PROPOSAL NO: 172201-0028
QUOTATION :

ltem Labor Materials Subs Total

Added telecom per the Counties request. $0.00 $0.00 $10,314.00 $10,314.00

(Ladder Rack in RM 77, RF1 122, &

Cabling for Make Busy Switches)

Owner Betterment $0.00 $(10,314.00) $0.00 $(10,314.00)

Totals $0.00 $(10,314.00) $10,314.00 $0.00
Insurance, Tax, Benefits on Labor $0.00
Overhead $0.00
Fee on Subs $0.00
Fee on JTV $0.00
Bond $0.00
Remodel Tax $0.00
TOTAL $0.00

TIME EXTENSION TO CONTRACT: 0 Days

Submitted Date:  1/7/2013

Accepted

VAUGHN CONSTRUCTION

By: Q@\N\M

o s ()il /

4,
Date [-1G-(3 // 410\

X

,l'

Doug Bo@

Proposal Valid for 10 Days




7

Williamson County

Change in Work - Cost Analysis Form

(To Be Completed All Subcontractors, Suppliers & Contractors Associated with the Change Proposal)

Project No. & Name: 1722-01 Wilco ESOC

DATE

1/7/2013

Change No. 172201-0028

Contractor Name: Vaughn Construction - CM
Description of Change:  Added telecom per the Counties request. (Ladder Rack, RFI 122, & Make Busy Switches)

Means Code Description Quantity | Unit | Unit Cost Labor g; fg:iﬁ Subcontract
Vaughn Construction - General Works 1 LS $ -
Fuquay, Inc. 1 LS $ -
Empire Acero, LLC 1 LS $ -
MGC Millwork, L.P. Il 1.S $
Chamberlin Austin, LLC 1 LS [ $ -
Luebe-Jones, Inc. dba AVAdek 1 LS $ -
ESS Group, LLC 1 LS $ -
Floydco, Inc. 1 LS $ -
Brit-Tex Plastering Company 1 LS $ -
W.E. Imhoff & Company, Inc. dba Intertech Flooring 1 LS $ -
MIL, Ltd., dba Myrex Ind. 1 LS $ =
Sign Resource Management 1 LS $ -
Red & White Greenery 1 LS $ -
Architectural Division 8, Inc. 1 LS $ -
Russell & Traugott Painting & Decorating, Ltd. 1 LS $ -
Titus Systems 1 LS $ 10314
Stanley Security Solutions 1 LS $ -
Metalink Corporation 1 LS $ -
Bonded Subs
Brazos Masonry, Inc. 1 LS $ -
Wattinger Company, Inc. 1 LS $ -
Forman Equipment & Conlracting, Inc. dba Forman - 1 LS $
Austin
Capitol Concrete Contractors, Inc. 1 LS $ -
Over the Top Systems, Ltd dba Pioneer Roof Systems 1 LS $ =
Standard Drywall, Inc. 1 LS $ -
Subguard Covered Subs
Champion Site Prep, L.P. 1 LS $ -
Coreslab Structures (Texas) Inc. 1 LS $ -
KST Electric, Ltd. 1 LS $ -
Vaughn Construction General Works - Subguard
Coverage 1.25% 1 LS ) )

SUBTOTAL | § $ -1 $ 10,314

BOND -

Work preformed by the Contractor's own employees (per UGC22.1.2a) SUBTOTAL | $ -
Work up to $10,000.00, add... 15.0% $ -
Work between $10,000.01 and $20,000.00, add... 10.0% $ -
Work greater than $20,000.00, add... 7.5% $ -
Managing subcontracted work (per UGC 22.1.2b) SUBTOTAL | $ 10,314
Work up to $10,000.00, add... 10.0% $ -
Work between $10,000.01 and $20,000.00, add. .. 7.5% $ -
Work greater than $20,000.00, add... 5.0% $ -
TOTAL FOR THIS CHANGE PROPOSAL $ 10,314

| ¥




| jo | ebed

DSSPL8° L1S 0SS V18 99Z'0££% ¥6£°20.% 0LL°1ZL$ £P1'€ES'0LS 116'9Z19% 0 =g sjunowly JuaLnNg
05S'#18'LLS 0% 0% 0% 0$ PLEOLS (ri€'oLs = - g0 8z
0S5'PL8'LLS 03 0$ 0% 0% 18¥'GL$ (18¥'GLS) - - g0 12
0GG'v18'L1L$ 0$ 0% 0% 03 165°€$ (/165'¢$ - > g0 92
0SG'¥LE'LLS 0% 0% 0% 0% GLL'6% (GL1'6% = - a0 ge
05G'718'LLS 0% 0$ 0% 0$ ¥81°2$ (v81'2% - = g0 ¥Z
0S5'v19'LLS 0% 0% 0% (041'22%) 0.1°C2$ 0% = - DIND €2
055'718'LLS 0$ 0% 0% 0% 6Y0'v$ (B90'7S) - . 80 [44
0SS'718'LLS 0% 0% 0% (£8¢'G3) £8€'G$ 0% - - WD k4
055 718'1L1S 0$ 03 0% 0% GG9'6$ (c59'6%) - = g0 02
0SS'7L8'LLS 0% 0$ 0$ (898'69) 898'6% 0% - - OO 6L
0SS v1L8'LLS (G80°188%) 0% 0% (000°0528) (580°1£99%) 03 - - 000 8l
5£9'669'2L$ 0% 0% 0% (Z11'0¥3) ZL1L'0P$ 0$ - - JND Ll
5£9'669'21$ 0% 0% 0% (£15'6$) €16'G$ 0% - = OND 9l
G£9'669'ZL$ 0% 0% 0% 0% 0/£7$ (01£'28) - - a0 Gl
G£9'669'2L$ /2¥'86E8 160013 Lv¥'618 0% £88'89¢% 0% 0¢ 0€ 020 ¥l
802'/62'2L$ 0% 03 0% (GLF'0LS) SLY'0LS 0% 5 = DD €l
802' .62 2L$ 03 0% 0% 0% G01'GZ$ (501'6Z%) - - g0 ZL
802'/62'2L% 0% 0$ 0$ (95L'01L8) 96101 $ 0% 5 £ a0 Ll
802'/62'2L$ 0% 03 0% (882'1$) 88¢'L$ 0% - = JND 0l
802 /62'2L$ 0% 0% 0% 0$ 06.'/$ (0G.'28) = = g0 6
802'/62¢CL$ 0% 03 0% (656'23) G56'7% 0% - E DD 8
80z 262'CL$ 0$ 0% 0% (650'21L%) SG0'CLS 0% E E JND L
802'/622L$ 0% 03 0% 0% o9¥8'02$ (978'02%) - - g0 9
80Z2'/62'CL$ 0% 0$ 0% 00S'GL$ (00G'S1%) 0% = . dND G
20Z2'/62'2L$ 0$ 0% 0% 0% 1GG'8$ (165'8%) = € 90 ¥
80Z'L6Z'21$ 0% 0% 0% (£29'21L9) £29'71L$ 0% = 4 DD €
80¢2'L6Z'2L$ 0% 0% 0% 0% 000'v3$ (000'F3) (4
90Z°/62'21$ 0% 0% 0% (099'c$) 099'c$ 0% l
80Z'162'2\$ 202°/62'Z1L$ 691'0Z€S$ 1¥6'289% 295'26v$ ¥25°155'013 000°052$ v/IN
oY, aa4 aseud suonipuo)d Kouabunuosn MOM juauLsyeg .oz.
P1ILIO : : uonoNIISuUoY Jeiauan ND 403809 iLumQ jesodoid
pajepdn [elo umopyealg dIND abueyn

MG 1LINWLINOGD

NHINVA

Bo Bupjoes) spung

LE¥9YY "ON 309foad suosied

10°ZZ.L} "ON 109[oid uybnep

191ua9 suonesadQ sasiniag Aouabiswsg fJuno)H uoswWel|jIMm
funoo uosweljipm



Williamson County

Change in Work - Cost Analysis Form

(To Be Completed All Subcontractors, Suppliers & Contractors Associated with the Change Proposal)

Project No. & Name: 1722-01 Wilco ESOC DATE  11/21/2012

Contractor Name: Titus Systems Change No. 3

Description of Change:  Addition of ladder rack in Motorola room, including grounding the ladder rack. (Telecom rack grounding excluded)
Pricing [ncludes markup

Means Code Description Quantity | Unit | Unit Cost Labor EI\‘,/‘[?; ;tlzziﬁ Subcontract
24" T.adder Rack (10 {1 piece) 20 S 14000 ® 28000 1% -
12" Ladder Rack (10 [ pioce) 40 S 9549 § 81968 - |

] Top Plates for 12" Ladder | o | |8 3500  [s 400§ -
Waterfall for 12" Ladder 7.0 % 3225 1% 22575 |% -
6" Elevation Kit 14.0 $ 38.64 $ 54096 |$ -
Wall Angle Bracket (24") 1.0 $ 32.51 $ 3251 |$ -
Butt Splice Kit 3.0 % 12.00 § 36.00 | -
Junction Swive! Splice 20 $ 2841 $ 5682 1% -
Vertical Swivel Splice 2 $ 3051 $ 6102 (8% -
Triangular Support Bracket 3 $ 67.66 $ 20298 |$ B
Toggle Bolts 1 $ 3225 $ 3225 |8 -
Fender Washers 1 $ 744 $ 744 1% -
6 AWG Ground Wire 40 $ 1.00 $ 4000 |8 -
Ground Straps 7 $ 3225 $ 22575 (% -
Commpression Lugs 4 3 8.39 3 3356 | 8§ “

$ S & - % -
Labor for 3 workers at 10 hrs a piece 30 $ 4500 |$ 1,350.00 $ -
$ - |3 - |8 -
$ - |8 - |$ -
$ - {§ - (¥ -
h - % - | ¥ -
p 5 $
$ - | % - 1% -
% - 1§ - 1% -
SUBTOTAL | § 1,350.00] $ 2,647.00] § -
Work perfomed by the Contractor’s own employees (per UGC 22.1.2a)  SUBTOTAL 8 3,997.00
Work up to $10,000.00, add... 15.0%
Work between $10,000.01 and $20,000.00, add... 10.0% $ -
Work greater than $20,000.00, add... 7.5% $ -
Managing subcontracted work (per UGC 22.1.2b) SUBTOTAL | $ -
Work up to $10,000.00, add... 10.0% 5 .
Work between $10,000.01 and $20,000.00, add... 7.5% $ -
Work greater than $20,000.00, add. .. 5.0% $ -
TOTAL I'OR THIS CHANGE PROPOSAL § 3,997




~

\

VOICE/DATA BROADBAND FIBER OPTIC FIRE/SECURITY

Ay

112172012

Change Order for Williamsoen Connty

It is our pleasure to provide a price for the following Scope of work.

We will install Ladder rack for the Motorola room. The ladder rack syslem will provide a pathway front
ihe Communicalion fower penetration in the Motorola rooms to the 14 (clecom racks. The ladder will
consist of 24°* and 12°* wide pieces and supported with the appropriate hardware and brackets. The
ladder system will also be grounded to the bus bar. We will not however be responsible for grounding the

racks.
Price for Materials $2647.00
Price for Labor $ 1350.00
Total Price $3997.00

Signature of Acceptance

Brendan Fluitt RCDD

Project Manager.

Titus Systems; LP

1821 Central Commerce Ct, Suite 100
Round Rock, TX 78664
Brendan.fluitt@titus-systems.com
Ph: 512.252.7171 Fax: 512.252.7278
Cell: 210-842-6570

Connecting the World, With the Speed of Light www. Titus-Systems.com




CABLE RUNVVAY PRODUCTS

G}SSM,\Q

Runway In A Box

Cable runway is individually packaged to simplify shipping. Individual
packaging is utilized for all 10250 Series Universal Cable Runway, 11252
Series TELCO-Style Cable Runway and 11275 Series UL Classified Cable
Runway. Individual pieces of runway are packaged in a custom width box of
32 ECT cardboard and banded on our strapping machine. Each box is labeled
with the part number and product description indicating color and width
Pallets are designed to support the full length and width of multiple
quantities of runway. Bunway is neatly stacked in two or three columns, fully
stretch-wrapped and banded to the pallet to eliminate movement during
shipping.

Universal Cable Runway

Our most popular cable runway is designed for value conscious customers.

The Universal Cable Runway offers the industry standard features you've

come to expect. With the runway supparted every 5" (1.5 m), maximum load

with minimal deflection s 132 lb/ft (59.9 kg).

s Made of 3/8” x 1-1/2" x 065" {9.53 mm x 38 mm x 1.65 mm) wall
rectangular steel tubing

o Cross members welded at 12" {300 mm} intervals

» Individually hoxed ta prevent scratches and damage

# Standard length is §-11 1/2°/119.5" {3035 mm)

e Underwriters Laboratory Classified for suitability as an equipment
grounding conductor only {must remave paint or use ground straps)

e Installation Best Practices includes Runway Elevation Kit

Part Number/Color Wid_th (Dim. A) s\lh\;glpg;l??

Gray | White | Black n o) Ib (kg)

10250-104 | 10250-204 | 10250-704 4 {100} 18{8.2)

{g;jﬁ;m 10250-106 | 10250-206 | 10250-706 6 1150) 1918.6)

/ 10750-100 | 10250-209 | 10250-709 §230) 2000.0)

- \ - 10250-11213026042 [ 10250-7 12 1300) 75 (113)

(361 mm) \V/‘ T0250-115 | 10250-215 10250-715 15 (380) 27 (12.2)

I}_l 10250-118 | 10250-218 | 10250-718 18 {460) 29 (13.2)

s A 10250-124 102505924 | 10250-724 24.(610) 32 (14.5)
(9,53 mm)

10250-131 ] 10250-231 | 10250-731 30 {760) 35 115.7)

10250137 | 10250-237 | 10250-737 36 (910) 38 (17.2)

12,00" .
=L

{304.B mm) == S
575" F
146.1 <
‘ ‘
—

(3035.3 mm}

6-3



CABLE RUNWAY JUNCTION PRODUCTS

-~

Butt-Splice Kit

Use Butt-Splice Kit to connect two sections of Cable Runway end-to-end. Fits
both solid and tubular steel 1-1/2" x 3/8" and 2" x 3/8" {38.1 mm x 9.53 mm
and 50.8 mm x 9.53 mm) Cable Runway.

Kit consists of:

o (4) splice plates

s (2)3/8-16 trimmed head bolts

e (2} 3/8-16 hex nuts

o (2) 3/8" split lock washers

Part Description g\mgf""“?
Number in (mm) 9
I (kg)
L / T1301-X01* | Butt-Splice Kit, 1-1/2 x 3/8 {38 x 9.53) Stringer 1{05)
11301-X02* Buitt-Sptice Kit, 2 (50.8) Stringer 1(05)
16301-X01% UL Classified Kit 1{0.5)

Heavy-Duty Butt-Splice Kit

For butting two lengths of Cable Runway together.
« Bolt through Butt-Splice Kit for earthquake areas
e Cable Runway drilling is required

Kit consists of:

* (4) splice plates for 1-1/2" stringers

o (4) 3/8-16 x 1-1/4" hex cap screws

o (4) 3/8-16 hex nuts
o [4) 3/8" split lock washers

hipping

HoHt Description Well;qht

Number b “‘ﬂ)

11299-X01% Heawy-Duty Butt-Splice Kit 2(0.9)

16299-X01% UL Classified Butt-Splice Kit T 209

Q‘\‘-‘.‘SSJF;(
UL

P Heavy-Duty Junction-Splice Kit

P Bolt-through Junction-Spiice Kit for vertical runs or to meet SEISMIC
: 1 requirements.
o Material is 2 x 2” x 3/16” (50 mm x 50 mm x 4.763 mmj steel angle
o (able Runway drilling is required
Kit consists of:
» (?) splice angles
o [4)3/8-16 x 1-1/4" hex cap screws
e (4) 3/8-16 hex nuts
« (4) 3/8 split lock washers

hipping

nger Description wﬁ'ﬁm
b (kg)
11298-X01* Heavy-Duty Junction Splice 3{1.4)
16298-X01" UL Classified Junction Kit 3(1.4)

*X=color over zinc: 0=Gold, 7=Black. Gold kits include gold color hardware, Black kits
include black color hardware.

6-10



CABLE RUNWAY ELEVATION PRODUCTS

/

Rack Not Inclucded

Cable Runway Wall To Rack Kit

The CPI Cable Runway Wall To Rack Kit is a one part number sofution to the
problem of providing support for cable between the rack and the wall.

Kit consists of:

o (1) 4 6"L/54" (1370 mm) Universal Cable Runway
* (1) Wall angle support bracket

* (1) Rack to runway mounting plate

¢ (1) Pair of end caps

¢ (6) J-bolts

Note: The kit is available with runway that is 67, 8" or 12"W (150 mm, 230 mm or
300 mm). Rack is not included.

N 3; g{:e ; Description Sb:'%fé{}i:gj:ﬁtg
"Standard/Universal Racks with 3°D (80 mm) Mounting Channels
Width - in (mm)
11911-X06 6 {150} Cable Runway Wall to Rack Kit 24 (10.9)
11911-X09 9 (230) Cable Runway Wall to Rack Kit 28(12.7)
11911-X12 12 {300) Cable Runway Wall to Rack Kit 32 (14.5)
Standard Rack with 6'D (150 mm) Mounting &hanmﬁs
Width - in {mm)
31473-X06 B (150) Cable Runway Wall to Rack Kit 17(1.7)
31473-X09 g (230} Cable Runway Wall to Rack Kit 19(8.6)
31473-X12 12 (300} Cable Runway Wall to Rack Kit 24 (10.9)

X=color: 1=Gray, 2=White, 7=Black. White kits include gold color hardwars, Gray and
black kits include black color hardware.

Cahle Runway Elevation Kit

Supports Cable Runway above a continuous row of Pl Racks or Cabinets of
varying height and provides additional space between the tops of the racks or

cabinets and the cable runway, which can create smoother transition of cables.

¢ Two ranges of incremental elevation

s Can be mounted perpendicular or parallel

» Rack kit includes a single pair of brackets and assembly hardware

» Rack kits attach to the top of the rack with a Rack-To-Runway
Mounting Plate (P/N 10595 or 12121, sold separately)

e Cabinet kits include two pairs of brackets and assembly hardware

* Cabinet kits attach directly to the top of the cabinet

7725 or3'H (50 mm, 64 mm or 80 mm) Elevation

Shipping Shipping

Rack Weight Gabinet We&ht
Ib (kg) Ib (kg)
10506-X02 21(0.9) 10506-X12 21(09)

4", 5" or 6"H (100 mm, 130 mm or 150 mm) Elevation

3(1.4)

10506-18

5 (2.3)

10506-X08
/

X=color: 1=Gray, 2=

White, 7=Black, 0=Gold. Note: Gald and white kits include gold
color hardware, Gray and black kits include black color hardware.

6-16

Z



& ’ \

CABLE RUNWAY JUNCTION PRODUCTS

Swivel Splice Kits

Splices cable runway vertically, horizontally or perpendicularty. Adjusts to any
angle; not limited to 45 or 90 degrees. Flexible swivel design simplifies Cable
Runway installation by making it easier to route around gxisting plumbing,
electrical. etc. Material is steel. Hardware and instructions are included.
Butt Swivel (10487) Kit consists of:

» (8) bracket end

* (8) 5/16-18 x 3/4" round head square, neck bolts

e (2)5/16-18 x 1" round head sguare, nack bolts

* (10) 5/16-18 hex nuts, split lock washers

Junction Swivel (10488) Kit consists of:

* (4] bracket end

o {2) bracket supports and plate clamps

e (2)5/16-18 x 1" round head square, neck bolts

o (8) 5/16-18 x 3/4" round head. square. neck holts -

* [10) 5/16-18 hex nuts, split lock washers

Vertical Swivel (10489} Kit consists of:

« (4} bracket end

o (2) bracket clamps and plate clamps

o (2} 5/16-18 x 1” round head, square neck bolts

o (6) 5/16-18 x 3/4" round head, square neck bolts

» {8 5/16-19 hex nuts, split lock washers

‘ Shipping
N:;rbter Description Wei%llt
th (kg)
10487-X01 Butt-Swivel Splice Kit 1{0.5)
10488-X01 Junction Swivel Splice Kit 1{0.5)
10488-X01 Vertical Swivel Splice Kit 105
16487-X01 UL Classified Butt Swivel Splice Kit 1{0.5)
. UL Classified Junction i
1baagxm Swivel Splice Kit H05)
. , UL Classified Vertical ,
GGG Swivel Splice Kit H0.5]

X=color over zing: 0=Gold, 7=Black

6-13



CABLE RUNWAY JUNCTION PRODUCTS

7

“aasrranantan. Ll

Perpendicular Mountin

3" (80 mm) Channel Rack-To-Runway
Mounting Plate

Secures Cable Runway to the top of Standard Rack and Universal Rack.
Mounts either parallel or perpendicular. For proper attachment of 6"W {150
mm) Cable Runway, specify a rack with top bars instead of top angles.

* Material is 1/4" (6.4 mm) thick cold-rolled steel. Installation best practice
includes Runway Elevation Kit (P/N 10506-XXX)

P/N 10595-XXX consists of: P/N 12408-X24 consists of:
¢ (1) mounting plate e (1) mounting plate
¢ (4} 5/18-18 x 2 1/4" J-bolts * (2)5/16-18 x 3 1/4" J-holts
& (4) H/16-18 hex nuts © (2)H/16-18 x 2 1/4" J-holts
¢ {4} 516 split lock washers & (4] 5/16-18 hex nuts
* (4] 5/16 split lock washers
Part Runway Width Plate | Swebnd
Number in {mm) Material Ib lkg)
10595-X04 4{100) Steel 4(1.8)
[ 10605X08 | 5108130 to 200) Steel 512.3]
10595-X12 § 10 12 (230 1o 300) Steel 5(2.3)
10595-X18 15 to 18 (380 to 460) Steel 7(32)
12408-X24* 20 to 24 (570 to 610 Aluminum 4(1.8)

X=color: D=Gold, 1=Gray, 2=White, 7=Black. Gold and white kits include gold color
hardware, Gray and black kits include black color hardware. 12408-X24 includes hat-
shapsd mounting plate that adds 1.25" 132 mm} to height of rack, not available in gold.

3" (80 mm) Channel Rack-To-Runway
Mounting Plate With Bracket

Secures Cable Runway to the top of Universal Rack without intruding into
mounting space. The combination of the fiat plate and hat-shaped bracket
form a clamp around the rack's top angles or top bars Mounts either parallel
or perpendicular. For proper attachment of 6" runway, use top bars (13045
Series) rather than top angles. installation best practice includes Runway
Elevation Kit (P/N 10506-XXX)

Kit consists of:

* (1) mounting plate

* (2) hat-shaped brackets

e (7} J-Bolts, 5/16-18 x 2-1/4"

* (3) hex nuts, 5/16-18

o (3) split lock washers, 5/16"

Part Runway Width Plate S‘I,:,'gipi*:ltg

Number in (mm) Material m (kg

g)
12730-X04 4 (100} Steel 41(1.8)
12730-X08 5 to 8{130 to 200} Steel 5(2.3}
12730-X12 9to 12 {230 to 300} Steel 5(2.3)
12730-X18 15 10 18 {380 10 460) Steel 7132}
T3730-X24 2010 24 (510 t0 610) Aluminum A118)

X=color: 1=Gray, 2=White, 7=Black. White kits include gold color hardware, Gray and
black kits include black cofor hardware, 13730-X24 adds 1.25° (32 m) to height of
rack.

6-14




CABLE RUNWAY SUPPORT PRODUCTS

Triangular Support Bracket, Aluminum

Triangular Support Bracket provides wall support for Cable Runway. Made of
1/4" x 2" (6.4 mm x 50 mm) aluminum bar. Load rating is 100 Ib (45.4 kg).
Kit consists of:

o (1) triangular bracket

» (7)5/16-18 x 2 1/4" J-holts

* (2) 5/16-18 hex nuts & 5/16 lock washers

MAATL ‘L‘Ji‘ﬁl"ﬁ’;” Color '“'J‘Jé’.’;'l‘.‘?
in (mm) Ib (kg)
T1312-106 45 100 - 150) Gray 710.9)
1312112 B-12 1150 - 300} Gray 3(14)
T1312-118 218 (300 - 460) | Gray 3(14)
T1312-200 261100 - 150] White Z10.9)
T1312-212 B-12 (150 - 300) White 3114
T1312-218 T2-18 1300 - 460) White 3114)
T1312-706 26 (100 - 150) Black 7109)
TI312-712 B-12 1150 - 30m) Black 3114)
T1312-718 12-18 (300 - 460) Black 3(14)

Triangular Support Bracket, Steel

Triangular Support Bracket provides wall support for cable runway. Made of
cold rofled steel. Load rating is 400 Ib {181.4 kg).

Kit consists of:

o (1) vertical wall-mounting bracket

e 1) rynway support channel

* (1) angle support channe

e (3) clevis pins (5/16" diameter} & cotter ping

e (2)5/16-18 x 2 1/4" J-bolts

s [2) 5/16-18 hex nuts & 5/16 lock washers

N i‘:rgrl:er IEI:(‘;:;;! Color S\I{ug}gll:?

' in (mm) Ih (kg)
T1746-112 6, 12 1150, 300) Gray 5123)
T1746-118 T8 (460) Qray B130)
11746-124 24 (610) Gray 9{4.1)
T1746-212 B, 12 1150, 300) White 512.3)
T1746-218 T8 1460) White B13.6)
11746-224 74 1610) White 9747
11746-712 B, 121150, 300) Black 51231
T1746-718 18 (460] Black T130]

___/,> 11746-724 Z4(610] Black ERvR))
T1746-012 6, 12 1150, 300] Gold 5123)
11746-018 78 1460) Gold 8{3.0)
11746-024 24 (610) Gold G (41)

Gold and white kits include gold color hardware, Gray and black kits inclide black
color hardware.

6-22




CABLE RUNWAY SUPPORT PRODUCTS

_.i'\‘__
= SONL
o P
% ey /"
A~ //‘ 4 j“,
s 7 -
'LJ@ - C -

Wall Angle Support Kit, Cable Runway

2" x 2" % 105" (50 mm x 50 mm x 2.67 mm) steel support angle is designed

for wall-mounting specific widths of Cable Runway.
Kit consists of:

¢ (1) wall angle

e (2)5/16-18 x 2 1/4" J-holts

e (2] 5/16-18 hex nuts

® (2) 5/16 lock washers

11421 | Wall Angle Support Kit

Color

1 B Gray T

2 Computer White

7 Black
0 Gold

RUIWay | pim. A | Dim.B | Dim ¢

in (mm) in{mm) { in{mm} | in(mm)

04l 40100) B (150} §4.31(109.5)]4.31 (109.5)

06 | 6(150) 8200 [6.31(160.3]] 4(100.0)

09 9230 11(280) 19.31(236.5)] 71(180.0}

10 1002500 | 12(300) 10.21(261.9] 8(200.0)

121 12(300) | 141360) J12.31(312.7)) 10(250.0)

151 15(380) | 17{430) }i5.31(388.9) 13 (330.0)

18| 18(460) | 20(510) 18.31(465.1)] 16 (410.0)

200 200100 § 2205600 $2021 (5159 18 {460.0)

>-[20] 246100 | 261660} [24.31 (6175 22 (460.0)

30 | a0{/60) | 32810 §30.31(769.9)¢ 28(710.0)

[nma21]-| x | )Ex |

Note: Gold and white kits include gold color hardware, Gray and black

kits include black color hardware.

6-23




CABLE RUNWAY PRODUCTS

7

Cable Runway Radius Drop

Mounts to the side stringer or cross member of CPI Cable Runway to help
maintain proper Category 5e/6/6a or fiber bend radius.
o Quick and easy installation using clevis pin

o Fits 6", 9", 12" and 18" {150 mm, 230 mm, 300 mm and 460 mm) cross

member tubing

* For use only with runs on CPI Universal Runway {Series 10250}
e Provides 3" (80 mm) bend radius
® Products "W (130 mmy), 12100-X06, 12101-X03, drap inta CPI's 6"W ({150

mm) vertical cabling sections
 Supplied with 1-1/2" (38.1 mm) cable spools {P/N 15003-001) to separate

and ouide cables

¢ Sold individually

Runway Radius Drop, Cross Member

7

Part C“m‘fvﬁl‘:g""av Product Width | Cable
Number in lmm) in {mm) Spools
12100-X06 6 (150) 5 {130) 2 ea.
12100-X09 9(230) 8 (200) 2ea.
12100-X12 12 (300) 11{280) J ea.
12100-X18 18 {460} 17 {430) 3 ea.

Runway Radius Drop, Stringer
Part Runway Product Width Lable
Number Application in (mm) Spools
12101-X01 Universal 10-1/4 (260.4) 3 ea.
12101-X02 Telco 7-3/41196.9) 2 ea.
12101-X03 Misc. 5{130) 7 ea.

=color: 1=Gray, Z=White, /=Black.

Cable Runway Movahle Cross Member

Permits the dropping of cables at any point between cross members of 812"
or 18"W (230 mm, 300 mm or 460 mm) Cable Runways. Combine with the
recommended Cable Runway Radius Drop.
e Fits on standard Cabie Runway only — 1-1/2" x 3/8" stringer

{38.1 mm x 9.53 mm)
¢ Can be used as an attachment point for the Cable Runway Radius Drops

listed helow
» Fasy installation using provided hardware
Part Cabhle Runway Use with
Number in (mm) Radius Drop
12115-X09 9(230) 12100-X07
12115-X12 12 (300} 12100-X10
12115-X18 18 (460) 12100-X16

=color: 1=Gray, 2=White, 7=Black. White (-2XX) kits include gold-colored harcware,

Gray {-1XX) and Black {-7XX) kits include black color hardware.

6-8



N

S ' \ .

Ground Wire

7

Product Description

Ground Wire is used specifically to graund electrica! devices and to maintain shield cantinuity at cable splices

Physical Description

« CONDUCTOR: Solid Annealed Bare Copper 6 AWG (4.1 mm), 10 AWG (2.6 mm],
12 AWG (2.0 mm) * INSULATION: Weather-resistant PVC (Polyvinyl Chloride) as
applicable

ORI hersiand Bhys
AWG Jacket Calor Mom Dia.

inches (num) s/t {keg/tont)

12-001-04 6 Black 0.22 (5.6) 911{135) 500 ft Spool
12-101-04 6 Gray 0.22 (5.8) 91(135) ‘200 fL Boxed Coif
12-102-04 6 Gray 0.22 (5.8) 91(135) 200 ft Coil
12-105-04 3] Gray 0.22 (5.8} 91 1139) 500 ft Coil
12-106-04 6 Gray 0.22 (5.6) 91 (135) 500 ft Box Coil
12-107-04 6 Gray .22 (5.6) 81¢135] 6300 ft Coil
12-104-04 6 Gray 0.22 (5.6) 91 (135) 4000 ft Reel

e 12-018-04 & Green 0.22 (5.6) 911135 500 ft Reel
12-905-04 6 Bare Q.16 (4.1) 79 {118} 600 ft Plastic Spool
12-901-04 5] Bare 0.16 {4.1} 78 ¢118) 200 {l Baxed Call
12-902-04 5] Bare 0.16 {(4.1) 79 (118) 2500 ft Plywood Spoo!
12-903-04 8 Bare 0.18 (4.1} 79 (118} 300 ft Plastic Spool
12-904-04 6 Bare 0.16 (4.1) 79 {(118) 4000 1t Reel
12-807-04 6 Bare 0.76 (4.1) 79 (118) 500 ft Coil
12-111-04 10 Gray 0.14 (3.6) 37 (65} 200 ft Baxed Coil
12-112-04 10 Gray 0.14 (3.6) 37 (551 500 {t Boxed Coll
12-011-04 10 Black 0.14 (3.6} 37 (55) 500 ft Plastic Spool
12-015-04 10 Green 0.14 (3.6} 37 {55) 500 [t Plastic Spool
12-121-04 12 Gray .12 (3.0) 25 (37) 200 ft Boxed Coil
12-122-04 12 Gray 0.12 (3.0) 25 (37 300 {t Boxed Coil
12-123-04 12 Gray 0.12 {3.0) 25 (37) 500 fi Plywood Spool

Standards Compliance:
RoHS Compliant, UL Listed.
Toll Free 800.551.8948 — Fax 770.657.6807 ‘SUPERIOR s g
www.superioressex.com ESSEX nanu S

'Y a -



PRODUCT APPLICATION SHEET

LR

ORDERING INFORMATION

‘Grounding-Busbar e iiing: ; ‘Compression Lug ;
P BarSie pubmber casie S, B G
13622-010  2"Wx10"Lx 1/4" thick 4 3 40162-901 #6 AWG 5/8" 1/4" Blue
13622-012 2W x 12°Lx 1/4" thick 6 3 40162-903 #5 AWG 1’ 3/8" Blue
40153-012 4"W % 12°L.x /4" thick 15 3 40162-909 2/0 1 3/8" Black
40153020 4"Wx20"Lx 1/4" thick 27 3 40162-913 #6AWG 172" 5/8" 14" Blue
142", 5/8" 114" Bluc
§

508 L UG ap

5 =5 g B g b g & e #6 Stranded, 46 Solid

o o o o o0 o 0 0 O o a o Note: Other sues are availahle

(z o Qo : < 0 Q9 0 0 Q 9 -

. |

a3k a0 AT ) : \ @‘\é};\
Grounding Bushar ‘* =1 |
TJwo-Hole 90° Stotted
v A i A — . Compression Lug Compression Lug C-Type
Two Mointing Hole Ground Terminal Block AT P/N 40162-901 P/N 40162-513 Compression Taps
Part Numbet-  Description 23 : e
40167-001 3/4"H x 1-1/2"W, 5/8" Hole Spacing, #14 AWG to 2/0 Eregi i lumpdis: o
-Part Numbier  Description
40159-001 Ground Wire, No Lugs, #6 AWG, 100'L
40159-009 Ground Jumper, (1) Lug, #6 AWG, 9'L
Twe Moueting Hole Grouod 40153-010 Equipment Ground Jumper Kit (2) Lugs, #6 AWG, 24"L
Torminal Black Nate: Insulated {green and yellow stripe), stranded canductors.
9r
Rack Bushars: . i o I S
PartNumber  Description - s
5 % S— , g Bird Ground Jumper

40161-072 Vertical Rack Busbar Kit, 721 x 1/4" thick 8D

10610-019 Horizontal Rack Busbar Kit for 19"W Racks/Cabinets

40172000 Rack Ground Bar Kit, 78°L x 05" thick Pedestal Glomp with Grouriding Gonnectar

R Pedestal - e
; g Part Number  Type Size/Style Connections
-
::ﬁJﬁ —5% e s ql 40169-001 (Cross Square, 1-1/8” 00 (2) #6 AWG per side
\nwl.:’:::- o \'.w' - 8" \
‘ A1ES-002 Cross Round, 1;1 /8 to (1)46 A\NG_&H) 2/0
£ 3 13/4" 0D per side
o tidadadt 11 Square or Round,  (2) #6 AWG or (2) 2/0
Jl?\—j” ©e 40169003 Stright  OUere oL TOURC. . -
0w 0 008 @ 1-1/8" 0D one side only

Horizontal Rack Busbar Kit

> G
-Pipe Clamp-with Grounding Gonnector /tl 1@:& N [ Straight Type
PartNuitiber.  :Pipe NominafSize Range Pipe 0D Range @@, 3 ! Podestal Clamp
40170-001 1/2°-3/8" a1 ® N
40170-002 IERRVZE 7611 _ . .
40170003 11/2" -2 1"-24" Gahle Runway Ground Straps
40170-004 2-1/2" -3 2257 - 345" Piirt Numbier  Deseription
40170-005 3e-4 32"-45" ;
40170-006 o 653" - 663" 40164-001 8L (11" Overall), #6 AWG, Includes Hardware

|

Ground Straps

/ ﬁ ﬂ ﬁ ﬂ] Cable Runway
@OOE
000 Q
D006

©2008 Chatsworth Products, Inc, All rights reserved, CPI, Saf-Trip, Seismic Frama, Shimfrans and MegaFiame aie federally registered
c H AT s W 0 H T H P H OD UCT S I Nc trademianis of Chiataworts Poducts, ing. CFf Passive Cooling, Cube-iT Fius, Evoiution, Siply Etticient, Teratrame and QuadraRack are
[ - \iadematks of Chalsworth Preducts, Inc, Al othes trademarks belong to their respective campanies. MKT-60020-354 Reu2 09/08

a L -



Project No. & Name:
Contractor Namge:

Description of Change:

4

\

Williamson Cbunty

Change in Work - Cost Analysis Form

(To Be Completed All Subcontractors, Suppliers & Contractors Associated with the Change Proposal)

1722-01 Wilco ESOC

DATE

12/17/2012

Titus Systems

Change No.

4

Pulling out 30 existing cable runs and repulling new drops to new designated comm closets. Each drop will be terminated

using existing jacks and faceplates. RFI 122 is the reference for changing IDF lacations.

{ Markup included. )

Means Code Description Quantity | Unit | Unit Cost Labor Mat.en'al & Subcontract
Equipment
General Cat 6 Plenum Cable (Blue) 6 §  380.00 $ 2,280.00
General Cat 6 Plenum Cable (White) 3.0 £ 380.00 $ 1,140.00 | § =
. —— - —1= i
T |Labor for 2 guys (845 anhow) 360 s as.00 |8 1,620.00 s -
$ - 1% 5
$ - |8 -
$ - 1% -
$ - |§ -
$ - |8 -
$ - |8 -
¥ - |8 -
8 - |% -
£ - |§ -
$ - 1% B
$ - |$ -
$ - |5 -
$ - |$ - |$ -
$ 7
$ - % - |$ -
$ - |5 - |8 -
$ $ - 1%
$ - |$ - |3 -
3 b - |8 -
$ - 1% - |8 -
$ - |3 - |8 -
SUBTOTAL | $ 1.620.00] $ 3,420.00| $ -
Work perfomed by the Contractor's own employees (per UGC 22.1.23) SUBTOTAL | $ 5,040.00
Work up to $10,000.00, add... 15.0%
Work between $10,000.01 and $20,000.00, add... 10.0% $ -
Work greater than $20,000.00, add... 7.5% $ -
g s
Managing subcontracted work (per UGC 22.1.2bh) SUBTOTAL | $ -
Work up to $10,000.00, add. . 10.0% $ ’
Work between $10,000.01 and $20,000.00, add... 7.5% $ -
Work greater than $20,000.00, add... 5.0% $ -
TOTAL FOR THIS CHANGE PROPOSAL $ 5,040
& . % -

7



REQUEST FOR INFORMATION W%ﬁﬁHN

CONSTRUYUGCT)ION

RFI NO: 122 2001 S.E. Inner Loop

To: Bill Spence Georgetown, TX 78626
Parsons Phone: (512) 230-6282
106 East 6th Street, Suite 200 Fax: (512) 681-9752

Austin, TX 78701
Phone: (512) 501-3745 Date: 11/13/2012
Fax: (512) 501-3741

Required By: 11/16/2012

From: Colby Hilton Project: Williamson County Emergency Services
Operations Center (CM)
Job No : 172201
Re: Termination Locations for Motorola, ATT, & CAPCOG Cabling
Spec. Section: Drawing Number: TT-000, TT-200 Series

Other Reference: WILCO Diagram
Question:

In reference to the TT-200 series of the Construction Documents, all telecom outlet cabling shall be home run and
terminated in either Server Room 76 or Telecom Room 32. Per the attached email correspondence and diagram
provided by R. Semple, Williamson County has requested that all Motorola outlet cabling be routed directly to and
terminated in Motorola Room 77, and all CAPCOG/AT&T outlet cabling be terminated in Pots Demark Room 78, in lieu
of this cabling being home run and terminated in Server Room 76. Please reference the following items and provide
additional clarification regarding this request.

1. Motorola Cabling: in reference to Sheet TT-000, please advise which telecom symbofs and associated outiet cabling
shall be routed directly to and terminated in Motorola Room 77.

2. CAPCOG/AT&T Cabling: In reference to Sheet TT-000, please advise which telecom symbols and associated outlet
cabling shall be routed directly to and terminated in Pots Demark Room 78. '
3. Please advise if additional cahle tray will be needed, or if any cable tray routing revisions will be required to
accommodate this request.

4. Please advise if these new requirements will affect outlet cabling outside of Comm. Ops. Room 40 (i.e. symbol's 16
& 17 in Room 26 and symbol 17 in EOC Room 38).

Proposed Answer:
Please provide necessary clarifications regarding termination locations for Motorola, ATT, & CAPCOG cabling.

Answer:

12 17
1. Outlet "/}7' and 'Y/ shall be routed directly to and terminated in Motorola Room 77.

7

2. Qutlet -—U_; and 16 shall be routed directly to and terminated in Pots Demark Room 78.
3. Additiorial Cable tray should not be needed for the reroute of the specified cable.

4. Refer to Answer 1 and 2.
Tyson E. Leonard , RCDD SMW 11/20/12



Very truly yours,

VAUGHN CONSTRUCTION
Attachments: WILCO Email Correspondence

ccC:



s

= o a 3 2 ¥ 8
4 = 1
f * i 1 2 i i —
* 4| 0CZLL-LEvSPy
|l
._ FaL
— 7 YA - N d .
& WICOIIELADDTONHISL |
.“ — I‘
"_ i ARSI .@_w cv
E *
‘_ HILNID SNOHLYU240 : 7
! S3JIAYAS AINIDYINS ! @ 7w
el ALNAOZ HOSHYITIM oo 1% <
_ | smw &
- A,y v—
! woe-iewr | IR ﬂﬂm_ i 1*.. E.ﬂ.. g +
v
|
= # §
! _ 8
4\. 13
]
ad .
-
+
£ F kS
L. 7
% -
P HL
5
. T n
&
| .@« e e o =
!
Ty o !
* _ i
7
paam | §
i
i
i
¥
! i
1
1
fom e -
._I.Ulll.lull‘lltsll !
] 1
o | .
i - ._
| !
: !
i !
5 ! :
J r i
i |
¥ | !
[] _ 1
| 1 1 1
K . _ i —
iy i
‘ot - i 1
& i | |
i _ . !
z ! __
N 1
e e e o e i bt R v -
= -
| N¢ld AT e
1
m 5 1 f K 3 I a 5 ) x G

-,



Colby Hilton

From: Dale Butler <dbutler@wilco.org>

Sent: Friday, November 09, 2012 3:27 PM

To: Cothy Hilton

Subject: FW: Wilco ESOC - ATT & Capcog Cabling
Attachments: TT200.pdf

Please see email and attachment per Gary.

Thank You

Fromi: Richard Semple

Sent: Thursday, November 08, 2012 4:14 PM

To: Gary Wilson

Cc: Dale Butler; Jay Schade; Benjamin Wassink; Otis Coufal; Bill Spence (Bill.Spence@parsons.com); Jeff Smith
Subject: RE: Wilco ESOC - ATT & Capcog Cabling

Gary:
| have attached a simple diagram that shows the endpoints of the cabling in the server rooms. Please forward if
appropriate.

The terminations should be in the following rooms:
Motorola cabling: Room 77

CAPCOG/AT&T: Roorn 78

All other technology cabling: Room 76

Thanks,
Richard

A Sk S A A R A A ER A

Richard Sempie, GISP, MPA

Public Safety Technclogy Director
GIS & 9-1-1 Addressing Director
Witliamson County

301 SE inner Loop, Suite 1067, 78626
Office: §12-943-1489

www.wilco.org/maps
L wilco.org/pst

From: Doug Boram [mailto:dougboram@vaughnconstruction.com]

Sent: Thursday, November 08, 2012 10:57 AM

To: Gary Wilson; Spence, Bill

Cc: Dale Butler; Stuart Baker; Colby Hilton; rrogers@capeog.org; Richard Semple; Brendan Fluitt
Subject: Wilco ESOC - ATT & Capcog Cabling

Gary / Bill,

| spoke with Randy Rogers this morning and he mentioned that ATT/Capcog does not want their cabling to be
terminated in the Server Room 76 as noted on the plans (see the attached). They would like their cabling to be routed
directly to the Pots Demark Room 78 and terminated. if this is what Wilco would like to do please send a PR showing
the changed routing.



Change in Work - Cost Analysis Form

(To Be Completed All Subcontractors, Suppliers & Contractors Associated with the Change Proposal)

Project No, & Name: 1722-01 Wilco ESOC DATE 12/27/2012

Contractor Name: Titus Systetns Change No. 5

Description of Change: 8 additional cables in Communications Operations Floor 40. All 8 cables will be pulled, terminaied and tested.

Markup is included in pricing.

Means Code Description Quantity | Unit | Unit Cost Labor Matf:rial N Subcontract
Equipment
Cat 6 Cable Plenum (Blue) 2.0 $  380.00 $ 760.00 | § -
o ‘(_J_at()«lacki_”_ L 16.0 $ - 7.00 § 11200 | $ -
- $ s -
¥ - |3 -
Labor for 2 guys 9.0 5 45.00 |$  405.00 3 -
$ - |$ -
$ - |8 -
$ - |3 -
$ - 1§ -
$ - |8 - |8 -
$ - |$ - 1% -
$ - |8 -
$ - |8 - 1% -
$ - |3 - % -
$ - |8 - |3 -
$ - |8 - |8 -
3 - |8 - |8 =
$ - |8 - 18 -
$ - |3 - | % -
§ - 1§ b -
$ - |% - 1% -
$ - 1% - | $ *
$ $ - |8 -
$ - |8 - |8 -
$ - |$ - |8 =
SUBTOTAL | § 405.00| § 872.00| $ -
Work perfomed by the Contractor’s own employees (per UGC 22.1.2a)  SUBTOTAL $ 1,277.00
Work up to $10,000.00, add... 15.0%
Work between $10,000.01 and $20,000.00, add... 10.0% $ -
Work greater than $20,000.00, add... 7.5% $ -
$ .
Managing subcontracted work (per UGC 22.1,2b) SUBTOTAL | § -
Work up to $10,000.00, add... 10.0% $ -
‘Work between $10,000.01 and $20,000.00, add... 7.5% $ -
Work greater than $20,000.00, add.... 5.0% $ -
TOTAL FOR THIS CHANGE PROPOSAL $ 1,277

/



REQUEST FOR INFORMATION

RFI NO: 133

To: Gary Wilson
Williamson County
3101 S.E. Inner Loop
Georgetown, TX 78626
Phone: (512) 943-1636
Fax: (512) 930-3313

From: Colby Hilton

Re: Additional Cabling for Make Busy Switches

Spec. Section:

Other Reference: Owner Request

Question:

VAUGHN

COHNS YTRUCTION

2001 S.E. Inner Loop
Geoigstown, TX 78626
Phone: (512) 230-6282
Fax: (512) 681-9752

Date: 12/2772012

Required By: 12/31/2012

Project: Williamson County Emergency Services
Operations Center (CM)
Job No 172201

Drawing Number:

Per the attached email correspondence from Michael Wright, dated 12/13/12, Williamson County has requested that
Vaughn install eight (8) additional cables/drops to accommodate the make busy switches that are to be Qwner provided
and installed at Communications Operations Floor 40. As noted on the attached sketch provided by Williamson County,
please confirm that the eight (8) additional Cat 6 cables are to be pulled from the two (2) different locations indicated at
Comm Ops. Floor 40, and terminated at Pots Demark Room 78. Please provide any additional information needed for
construction, including any specific location and termination requirements for this cabling.

Answear:

Very truly yours,

VAUGHN CONSTRUCTION
Attachments: Cable Routing Sketch

CC:



Colby Hiiton

From:

Sent:

To:

Cc:

Subject:
Attachments:

Brendan,

Doug Boram

Friday, December 14, 2012 12:18 PM

Brendan Fluitt

Colby Hilton; Stuart Baker

FW: AT&T / CAPCOG Make Busy Switches
05-A232 - Wilco ESOC - Make Busy Switches.pdf

Can you provide the wires shown in the attached for the make busy panels?

Doug Boram
Vaughn Construction

From: Michael Wright [maitto:MWright@wilco.org]
Sent: Thursday, December 13, 2012 11:34 AM

To: Doug Boram; Gary Wilson

Subject: AT&T / CAPCOG Make Busy Switches

Doug,

| am following up to see if the low voltage contractor pulled the make busy cables for AT&T per the meeting

conversations.

Michael L Wright

Captain - Logistic
Williamson County

Public Safety

Emergency Communications
508 5 Rock St

Georgetown, Tx 78626

EOC Duty Officer (512) 943-1394

Office (512) 943-3753
Mobile (512) 497-8741
Pager . {512) 205-7399
Email mwright@wilco.org

Respectful, Professional, Excellence in Service and Care

’



